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° FUT T B T [ 59 F9T-97 F FRT 797 18 &

Please make sure that the printed question paper are contains 18
questions.

° g97-U5 H &l & @ Gl /9 T e TEC Fl § # HH TAv-yikawm &
JE-75 97 frd)
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not strike the written answer.
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2028/(Set : A)
. Wﬂ?ﬁﬁﬁﬁ#ﬁ%gﬁf?ﬁﬂ?@ﬂ??ﬁﬁﬂﬂﬁ? TET %
FYUT 59 T § 23 4 qar @hEe 7E B aam

® Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 73T -
(i) F7GT F 37 18 797 &
(ii) T FoT S &
(iti) o7 @@ 1 7 1-1 S % &RE (i-xii) JGABHT FoT &1 0% Fo7 & T GHIT
G 81 ST 55 AT FAT G & ST I T ST Fa-YRAH 7 [T
&

(iv) o7 @@ 2 & 10 TF Sy FTIT FoT & T T 597 2. ST T &
(v) o7 @@ 11 @15 T% TG Fa0T 597 & 797 J9% o7 3 31 77 &1
(vi) 797 T 16 G 18 7% HF FTHT 797 & 7o F9% F97 5 R # 8

(i) FETT F T @Y & FE w78 & FER 5 oE a7 oraiE
I eI B T & 08 g § @ o R 7 g7 F @ P90 @ & 797
& 81

(viii) PEGACT % TFIT F ST TE &1 STE &7 T, TTIHT AR F T
5T ST G &1

General Instructions :
(i) There are 18 questions in all.
(i) All questions are compulsory.

(iii) Question number 1 consists of twelve (i-xii) multiple choice questions
each of 1 mark. Each question has four possible answers. You have
to select best answers out of these and write in your answer-sheet.

2028/(Set : A)



(3) 2028/(Set : A)
(iv) Question Numbers 2 to 10 are very short answer type questions and
carry 2 marks each.

(v) Question Numbers 11 to 15 are short answer type questions and
carry 3 marks each.

(Vi) Question Numbers 16 to 18 are long answer type questions and
carry 5 marks each.

(vii)There is no overall choice. However, an internal choice has been
provided in all three questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

(viii)Use of Calculators is not permitted, if required you may use

logarithmic tables.

[ Sgfescdid e |

[ Multiple Choice Type Questions ]

1. (i) fEq omasr & SI A% B @ ¢ 1
(A) TR (B) e
(C) dee (D) H1§ T&

SI unit of electric charge is :
(A) Ampere (B) Coulomb

(C) Volt (D) None

2028/(Set : A) P.T.O.



(4) 2028/(Set : A)
(i) T P fagq oYl at fage &1 Rgg &9 E 8 90° &1 W WA § @ Al
I AT BRT 1
(A) PE (B) PE cos 6

(C) PE/sin @ (D) I

The torque acting on an electric dipole of dipole moment P placed at
an angle 90° to the electric field E will be :

(A) PE (B) PE cos 0
(C) PE/sin 6 (D) Zero
(iif) T & gRE @ Th =ereh Bl S - 1
(A) F4 BRI
(B) T
(C) @& =M
(D) 9% I1 ¢ Tahal 2
The resistivity of a conductor with increase in temperature :
(A) decreases
(B) increases
(C) remains same

(D) may increase or decrease

2028/(Set : A)



(5) 2028/(Set : A)
(iv) T S T # g WaiT e 8 1

(A) S99 FOMHD

(B) &9 9 g-TcHh

(C) ik T RS

(D) 31/ 9 &-THB

Magnetic susceptibility of diamagnetic substance is :
(A) small and negative

(B) small and positive

(C) large and negative

(D) large and positive

(v) o7 I Seied i drd r Boel & g 9 B S 9 grEhid & 8

ol
(A) pont B Lol
©) “2—‘11 (D)

The magnetic field at the centre of a circular coil of radius r and
carrying current [ is given by :

Ho!
(A) pond (B) oy

2028/(Set : A) P.T.O.



(6) 2028/(Set
() Mol (D) Zero
2r

(vi) FFE 101" Hz omafy awlt a¢T @ aRE W 1
(A) 3x107°Hto  (B) 3x10° To
(C) 10° o (D) g &

The wavelength of a wave with frequency 10'*Hz will be :

(A) 3x10™°m (B) 3x10°m
(C) 10°m (D) None
(vii)Th SRS O] B Ol R B © 1

(A) T W (B) aget W

(C) JYEE T (D) T oTidafte W& 9X
The working of an optical fibre depends upon :
(A) Reflection

(B) Moment

(C) Refraction

(D) Total internal reflection

(viii)Th AT A A % [0 GRS g9l Hl AIqH g0 # S ! ]

2028/(Set : A)
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(7) 2028/(Set : A)
(A) 25 GHI (B) 25 Hio

(C) 2.5 Hio (D) 1 Ho

For a normal human eye the least distance of distinct vision is :

(A) 25 cm (B) 25 m
(C) 2.5m (D) 1 m

(ix) Fr=1 & @ fhaeh [T M fowe stfoerg 8 7 1
(A) (B) @
(C) drem (D) &

Which of the following stopping potential required is minimum ?
(A) Blue (B) Red
(C) Yellow (D) Green
(x) 100 V& fawaiork g1 @R el giersle @l a-sfe qviesd 8 ¢ 1
(A) 12.27A (B) 1.227 A
(C) 1 Ho (D) 1.227 Hio

de-Broglie wavelength associated with an electron under a potential
difference of 100 V is given by :

(A) 12.27 A (B) 1.227 A

2028/(Set : A) P.T.O.



(8) 2028/(Set : A)

(C) 1 m (D) 1.227 m

(xi) BIEZISH TTATY] I ST ol orl @ 1
(A) 13.6 J (B) 13.6 eV
(C) LTev (D) 10.2 eV

The ionization energy of hydrogen atom is :

(A) 13.6J (B) 13.6 eV
(C) 1 eV (D) 10.2 eV

(xi)T® TV TR B HaR h 2, 309 fhadl g0 T FAROT fRar o geban & afe
g % BT R ® 7 1
(A) v2Rh (B) VRh

(C) YR/h (D) Jh/R

The distance to which a TV tower can broadcast program is, given
by (given height of tower h and radius of earth R) ?

(A) V2Rh (B) VRh
(C) VR/h (D) Jh/R
[ SAferRTg SR 99 |
[ Very Short Answer Type Questions ]
2. FW & FEH 7R ? s g 2

What is Coulomb's law ? Write its expression.

3. U IH & [T UGQY g dfiessar § gy fod 37 9 @ & qew 3 fie

HI-9T A Seaidl 78] & 7 2

2028/(Set : A)



(9) 2028/(Set : A)
Write the relation between resistance and resistivity of a conductor.
Which of these quantities does not change for same material ?

4. fEq g RO & Y &e & Frem 2

State Faraday's laws of electromagnetic induction.

5. QAT qUl WA & @ ITEN ford 2

Write two uses of microwaves and radiowaves.

6. T% o P T B IR e O B gl & G dee |
2

Define power of a lens and give its relation with focal length.

7. FHRIS-E eI 1 B § 7 36 (Y SRR H dHET o

2

Define photoelectric emission and write Einstein's photoelectric
equation.

8. AND T 7 2l & ? 39 [0 g9 ARl S8 2

What is AND gate ? Give its truth table.

9. N-Uh & A M e & P Se »Fd s & ¢ 2

What are N-type semiconductors ? How they are formed ?

10. 3™ HIGAA &1 Bl & ¢ R @ HeE @ avie & 2

What is amplitude modulation ? Explain with diagram.

2028/(Set : A) P.T.O.



11.

12.

13.

(10) 2028/(Set : A)
[ g I 99 |
[ Short Answer Type Questions ]

T G I G 0 Bl & 7 A 9 B fagal & e ged e S B

What is capacitance of a capacitor ? Calculate equivalent capacitance
between points A and B :

" 10 uF
Ae—— —— ——B

T ey & SR T SRRig H A9 79 B b [0 aoF B
3

Explain the use of meterbridge for finding an unknown resistance.

SRIST AT T BN & ¢ AR e Ao & Y gRe @ 60° B, A1 Tuadit
feperT BT ? 3

What is polarization of light ? Calculate the refractive index of a

medium if angle of polarization is 60°.

14. UF SR GEAERT H [ROT ARG SIC T SN i ure for

3

2028/(Set : A)



(11) 2028/(Set : A)
Draw the ray diagram of a compound microscope and define its

magnification.
15. TF P-N SIS & Q0 371 R & &4 TN & o &
3

Explain the use of P-N diode as full wave rectifier.

[ ST 997 ]

[ Long Answer Type Questions ]

16. U%h TEFEH & MG T4 HAQE & a0 B 5
Explain the principle and working of a Cylcotron.

HAYqT
OR

Th I9 HSol EHe] & HEd & I B 3@ WX § wWiaRd & @
I B
What is the principle of a moving coil galvanometer ? How it can be

converted into an ammeter ?

17. U% A. C. <= & [Osid ud Ry &1 aue #3 5

Explain the principle and working of A. C. Generator.

HAYAT
OR
2028/(Set : A) P.T.O.



(12) 2028/(Set : A)
() T T AN b | GG & 3

Define self and mutual inductance.

(b) T FSA & o0 WG T B ae 1072 FHvS § O 2A & & § T&q
W 20 V &I [Egd-aes a9 (emf) IG Bl 8l 2

Calculate self-inductance of a coil when current in it changes by 2A

in 1072 seconds and emf produced in 20 volts.

18. Yeamfed e & O & IO QT ST SUANT B 3HD [T THIBLOT T
Coxy 5

Explain the laws of radioactive decay. Derive equation of radioactive

decay using these laws.

HAYqT
OR

&g ReRis g aralg &t AR forgeR &8 e w@iua i)
5

Define decay constant and half-life and derive a relation between them.

2028/(Set : A)
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Roll No. SET : B

A o=

PHYSICS
[ Hindi and English Medium |
ACADEMIC /OPEN

(Only for Fresh Candidates)
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° FUT T B T [ 59 F9T-97 F FRT 797 18 &

Please make sure that the printed question paper are contains 18
questions.

° g97-U5 H &l & @ Gl /9 T e TEC Fl § # HH TAv-yikawm &
JE-75 97 frd)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 PYF J97 H TV [IGT J@ BT @ B, J97 H HHH T [7E]
Before beginning to answer a question, its Serial Number must be written.

o FTT-YiéTH % &7 4 @il G/ T 8
Don'’t leave blank page/pages in your answer-book.

o FUT-YRaE & SARFT HE 3 e T& [ T SaeTmagar & @ s frar
gT 7 FC
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GHERE STy U To FeT-TH YT a9 [rd)
Candidates must write their Roll Number on the question paper.

2028/(Set : B) P.T.O.



2028/(Set : B)
. Wﬂ?ﬁﬁﬁﬁ#ﬁ%gﬁf?ﬁﬂ?@ﬂ??ﬁﬁﬂﬂﬁ? TET %
FYUT 59 T § 23 4 qar @hEe 7E B aam

® Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 73T -
(i) F7GT F 37 18 797 &
(ii) T FoT S &
(iti) o7 @@ 1 7 1-1 S % &E (i-xii) JGABHT FoT &1 0% Fo7 @ T GHIT
G 81 ST 55 AT FAT G & ST I T ST Fa-YRAH 7 [T
&

(iv) o7 T 2 & 10 TF Sy FTIT FoT & T T 597 2. ST T &
(v) o7 @@ 11 @15 T% T Ta0q 597 & 797 J9% o7 3 31 77 &
(vi) 797 T 16 G 18 7% HF FTHT 797 & 7o F9% F97 5 R # 81

(i) FETT F T &g & FE w78 & TR 5 o ar g 7 oraid
I eI B T & 08 g § @ o R 7 g7 F @ P90 @ & 797
& 81

(viii) PEGACT % TFIT F ST TE &1 STE &7 T, TTIHT AR F T
5T ST G &1

General Instructions :
(i) There are 18 questions in all.
(i) All questions are compulsory.

(iii) Question number 1 consists of twelve (i-xii) multiple choice questions
each of 1 mark. Each question has four possible answers. You have
to select best answers out of these and write in your answer-sheet.

2028/(Set : B)



(3) 2028/(Set : B)
(iv) Question Numbers 2 to 10 are very short answer type questions and
carry 2 marks each.

(v) Question Numbers 11 to 15 are short answer type questions and
carry 3 marks each.

(Vi) Question Numbers 16 to 18 are long answer type questions and
carry 5 marks each.

(vii)There is no overall choice. However, an internal choice has been
provided in all three questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

(viii)Use of Calculators is not permitted, if required you may use

logarithmic tables.

[ Sgfescdid ue |

[ Multiple Choice Type Questions ]

1. () % 0% RN 1 de & O9aiay § @ig &, @ 3-8 aeRe e
(A) 1o (B) 1.227 Hio
(C) 12.27 A (D) 1.227 A

An electron is moving under a potential difference of 1 volt, what
will be the de-Broglie wavelength ?

(A) I m (B) 1.227 m
(C) 12.27 A (D) 1.227 A
(ii) BEZIST XA H AT e B & 1
(A) 13.6 V (B) 13.6 J
(C) 13.6 eV (D) 1 eV

2028/(Set : B) P.T.O.



(4) 2028/(Set : B)

The ionization energy of hydrogen atom is :

(A) 13.6 V (B) 13.6 J
(C) 13.6 eV (D) 1 eV
(iii) T TV TEX & SR h & 309 Fhael 30 T FAROT Rl o | @, aR
gt & BT R ® 7 1
(A) Rh (B) 2Rh
(C) V2Rh (D) VRh

A TV tower is of height h, the distance upto which it can broadcast
program will be (Given radius of earth : R) :

(A) Rh (B) 2Rh
(C) v2Rh (D) VRh
(iv) T Qo1 SR B e & © 1
(A) T HidRe Wed" T
(B) T&wd T
(C) STUFET W
(D) ¢ Tt

The working of a totally reflecting prism is based upon :
(A) Total internal reflection

(B) Reflection

2028/(Set : B)



(5) 2028/(Set : B)

(C) Refraction

(D) None of these
(v) T WM i & [0 Gease 9o &l ofedad &0 Bkil & 1
(A) 25 Hio (B) 0.25 Hio
(C) 2.5 T (D) 1 Hio
The least distance of distint vision of a normal human eye is :

(A) 25 m (B) 0.25 m
(C) 2.5 cm (D) 1 m

(vi) 71 & 9 fpas foe MR favwe we9 st B ?

(A) dreT (B) &0
(C) drem (D) =T

For which of the following stopping potential required is maximum
?

(A) Red (B) Green
(C) Yellow (D) Blue

(vii) fawafat 1 SI A= 8ar ® ¢ 1
(A) (B) F™
(C) dIE (D) APTE

2028/(Set : B) P.T.O.



(6) 2028/(Set : B)

SI unit of electrostatic potential is :

(A) Ohm (B) Coulomb
(C) Volt (D) Ampere

(viii)Ueh P fEq ogel ol faga # fgg &9 E & g9t W@ W @ ar &
Y B 1

(A) PE (B) PE cos 6

(C) T (D) #I1§ &

The torque acting on an electric dipole of dipole moment P placed
parallel to an electric field E will be : 1

(A) PE (B) PE cos 6

(C) Zero (D) None

(ix) T STedam@® B ATUEHAT aIq™ JoM W ¢ 1
(A) s
(B) &9 &Rl
(C) @& &
(D) 9% 1 ¢ Fahal 2
The resistivity of a semiconductor with increase in temperature :

(A) increases

(B) decreases

2028/(Set : B)



(7) 2028/(Set : B)

(C) remains same

(D) may increase or decrease
(x) TF FTTHE G B I TG Bl 8 0 ]
(A) S99 g-TcHh
(B) &9 9 FOMHSD
(C) 31k g &-TH®
(D) 31 9 FOHB
Magnetic susceptibility of a paramagnetic substance is :
(A) small and positive
(B) small and negative
(C) large and positive
(D) large and negative

(xi) &R I SEied A drd r Bl & g G & s I grEchid a1 BN 1

(A) A (B) monl
ol ol
(©) 2nr (D) 2r

The magnetic field at the centre of a circular coil of radius r and
carrying current I, is given by :

2028/(Set : B) P.T.O.



(8) 2028/(Set : B)

(A) Zero (B) nonl
Rol Mol
(©) 2nr (D) 2r
(xii)fpEt 3x101°Hz Ry awlt a7 @ s d o
(A) 10° Tio (B) 3x10° Hio

(C) 107° Ho (D) g &t

The wavelength of a wave having frequency 3x 10'3Hz will be :

(A) 10° m (B) 3x10°m
(@) 10°m (D) None
[ SAfereTg S 99 |

[ Very Short Answer Type Questions ]

2. g WO & fo o9 & e i) 2

What is Lenz's law for electromagnetic induction ?

3. USA-TCT qean X6l & & & SwEm i 2
Write two uses each of radiowaves and X-rays.

4. Th WG H [0 BiBE g B GRA GG T HH A B AT B G T
fere 2
Define focal length of a lens and give its relation with power of the lens.

5. YRIAT-fOE)q Sce T B & ¢ dsies SMghd i areT o
2

2028/(Set : B)



(9) 2028/(Set : B)

What is photoelectric emission ? Define threshold frequency for it.

6. ORER &1 B & ? 6% [ g9 9RO a9 2

What is OR gate ? Write its truth table.

7. P-Y@R & e M 2d & ¢ 5% B9 I A 8 7 2

What are P-type semiconductors ? How they are formed ?

8. Mg WIgeH F1 Bl & ¢ U & Herdr § e 2

What is frequency modulation ? Explain with diagram.

9. M & fw F1 ® ? 3E g o 2

What is Ohm's law ? Write its relation.

10. FHEH & FEH & QR R auie 2

State and explain Coulomb's law.

[ g I 99 |
[ Short Answer Type Questions ]

1. = & Tade & GRA ford qer X g Y faget & wed god Sy S #Y

3
2Q

1Q 2Q
20 W\

X

2028/(Set : B) 4Q P.T.O.



(10) 2028/(Set : B)

Define resistance of a conductor and calculate equivalent resistance
between points X and Y :

20
1Q 20
20 MWW\
Xeo— L .Y
MWW
4Q

12, U% AR UfeesH Heiet & aiRar & foe dey e qor aiRar @ qagy & 99e
P GO H| 3

Write expression for capacitance of a parallel plate capacitor and
explain the effect of dielectrics on capacitance.

13. TF GO gEERT #l FROT SRE SAIY QT ST @ iR 3
3

Draw the ray diagram of an astronomical telescope and define its
magnification.

14, % gl & WPGRR (Sads) & &9 § ST & aoiF &Y
3

Explain the use of transistor as an amplifier.

15. @& o 81 WEaq § Yh-gav S GHET qur giad-SHer & g fad
3

Explain polarization of light by reflection with a diagram. Define angle

of polarization.

2028/(Set : B)



(11) 2028/(Set : B)
[ ST 9 ]

[ Long Answer Type Questions ]

16. (a) TR TN WEEHE-T0lih S TRAT o | 3

Define self-induction and the coefficient of self-inductance.

(b) Fell 1072 H wBEREHE & HIsoil A fagq a1 20A Wiy §H9S H W § FE
g, q 39 IO [IE- ae® 9 (emy) A B p)

Calculate the emf (electromotive force) induced in a coil of self-
inductance 1072 H, when current in it changes at the rate of 20A

per second.

HAYqT

OR
T TEHH & s 9 S @ auie #R]| 5

Explain the principle and working of a transformer.

17. Qg #m &t & °? AT og & M & auie B qer gHie o
5

What is radioactivity ? Explain laws of radioactive decay and write
equation of radioactive decay.

AYqT
OR

A faEved Ud g d9ad @ fGaRyds A w1 90% B §F &
qfo 5

2028/(Set : B) P.T.O.



(12) 2028/(Set : B)
Explain nuclear fission and nuclear fusion in detail. Give one example
of each.

18. T o0 FSoil I@HHIey & [qaid ® a0 HL| 39 dleeHel § Hd Seal o Fhal
g7 5

Explain the principle of a moving coil galvanometer. How it can be
converted into a voltmeter ?

AYqT

OR

U GETIEH B HEEY B RE @ geEd 4 ave HY sode & 569 mRd
4 el fher ST G B 75

Explain the working of a cyclotron with the help of diagram. Why

electron cannot be accelerated using it ?

2028/(Set : B)
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° FYI TT FWF [ 59 F9T-79 § JRT 797 18 &

Please make sure that the printed question paper are contains 18
questions.

° Jo7-7q 7 Fled & # N RF T e THC T G # A FO-YiawH &
FE-7% 7 @)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

® YT F9T F TV [TGT & BT G GBS, FIT F BHEH I [7@]
Before beginning to answer a question, its Serial Number must be written.

o FTv-YikTE # &5 4 @l o/9 T 8ig)
Don’t leave blank page/pages in your answer-book.

» FTT-GRTHE % GIIIRFT FF o T TE [ oFT: SFeTHEATEr & frd i T
g 7 FC
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GhETE 7 U To FIT-UH YT a9 [i@)
Candidates must write their Roll Number on the question paper.

2028/(Set : C) P.T.O.



2028/(Set : C)
. Wﬂ?ﬁﬁﬁﬁ#ﬁ%gﬁf?ﬁﬂ?@ﬂ??ﬁﬂﬂﬂﬁ? TET %
FYUT 59 T § 23 4 qar @hEe 7E B aam

® Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 73T -

(i) F7GT F 37 18 797 &

(ii) T FoT S &

(i) 77 @& 1 7 1-1 o & §NE (i-xii) GABAT T &1 T9% 597 & X
GIET FTT 81 STH TG T FIT G & G I FTT B FTH Fa-JRaH
& forgr &

(iv) 5797 GET 2 @ 10 T Sy 3709 597 & To J9e6 F27 2 Gfel &l &

(v) 597 GET 11 @ 15 T2 g Fa0T o7 & 7ol J9% o7 3 7l T &l

(vi) 557 G 16 718 TF & FT0T 557 & T F9F 597 5 S H &

(Vi) Fo7-97 T T @Y G HE fEeq 78 81 FMT S5 FE art i w7 oraia
97 J&IT [T T &1 0F wyA & @ oy R W 97 § @ P90 0% & 597
0T 81

(viii) FGAST % TTIT F AT TE &1 SRTE &7 T, TGTIET AR F AT
3T o G &1

General Instructions :
(i) There are 18 questions in all.
(i) All questions are compulsory.

(iii) Question number 1 consists of twelve (i-xii) multiple choice questions
each of 1 mark. Each question has four possible answers. You have
to select best answers out of these and write in your answer-sheet.

(iv) Question Numbers 2 to 10 are very short answer type questions and
carry 2 marks each.

2028/(Set : C)



(3) 2028/(Set : C)
(v) Question Numbers 11 to 15 are short answer type questions and
carry 3 marks each.

(Vi) Question Numbers 16 to 18 are long answer type questions and
carry 5 marks each.

(vii)There is no overall choice. However, an internal choice has been
provided in all three questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

(viii)Use of Calculators is not permitted, if required you may use

logarithmic tables.

[ Sgfesedid ue |

[ Multiple Choice Type Questions ]
1. () f5 3x10'%Hz omaRy gl a1 &t qERA B ¢

(A) 3x108 o (B) 3x10% do

(C) 107 o (D) 10* o
The wavelength of a wave having frequency 3x 10'?Hz will be :
(A) 3x108m (B) 3x10*m
(C) 10™*m (D) 10* m
(i) TF HY =E § AR 1 O ETed 8 Wl 5, O 369 r 30 W g & 99
BT 1
o Hol B b
(C) mond (D) A

The magnetic field at distance r from a straight conductor of infinite
length carrying current I, is given by :
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Hol ol
A 2nr (B) 2r
(C) ponrd (D) Zero

(iii) T Aegahd To B TG qgrT ol & 0 1
(A) Stfek T RS
(B) 3 9 €
(C) @Y 9 FRMHD
(D) W 9 &g-cAS
Magnetic susceptibility of a ferromagnetic substance is :
(A) large and negative
(B) large and positive
(C) small and negative

(D) small and positive

(iv) TN & gRE F AT TF A B AT 1
(A) @& =
(B) %9 Bl
(C) T
(D) 5 &1 g @bl &
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With increase in temperature the conductivity of a conductor :
(A) remains same
(B) decreases

(C) increases

(D) may increase or decrease

(v) &Rar & SI W= e ® 1
(A) e (B) U
(C) F™ (D) #¥E
SI unit of capacitance is :
(A) Volt (B) Ampere
(C) Coulomb (D) Farad

(vi) @ P fagq ool art fage &1 fgg 89 E 8 90° &I W WA § @ Al
o SO B 1

(A) PE cos 6 (B) PE

€ P (D) E
The torque acting on an electric dipole of dipole moment P placed at
an angle 90° to the electric field E will be : 1

(A) PEcos 6 (B) PE

(C) P (D) E
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(Vii)Th TV TEX & Hai A T, gﬂﬁmﬁgﬁwwmmw%

gedt % BT R B 7 1
(A) Rh (B) v2Rh
(C) 2Rh (D) VRh

A TV tower of height h can broadcast program upto a distance
(given radius of earth R) :

(A) Rh (B) v2Rh
(C) 2Rh (D) VRh
(viil)BTEGIST TTATY] &l ST ol Bl & - 1
(A) 1eV (B) 10.2 eV
(C) 13.6J (D) 13.6 eV

The ionization energy of hydrogen atom is :

(A) 1eV (B) 10.2 eV
(C) 13.6 J (D) 13.6 eV

(ix) 10% dce & favaidR a0 @Rg 5l gaee @ 3-sfell JeRe B ¢ 1
(A) 1Hio (B) 12.27 A
(C) 0.1227 A (D) 1.227 Hio

What is the de-Broglie wavelength associated with an electron
moving under a potential difference of 10% volts will be :
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(A) 1m (B) 12.27 A
(C) 0.1227 A (D) 1.227 m
(x) = | 9 fhes fog MR e sifdepaw 2 7
NI (B) &Q
(C) T (D) et

For which of the following stopping potential required is maximum
?

(A) Blue (B) Green
(C) Red (D) Yellow

(xi) TF FHI T Bl BTN T Bl © 1
(A) TERHT |

(B) T HidRe W X
(C) STUgdd W
(D) #18 TE

The working of an optical fibre depends upon :

(A) Reflection
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(B) Total internal reflection

(C) Refraction

(D) None

(xii) T AT A A & [0 GET G Bl OTAqH G ol § ¢ ]
(A) 0.25 Hio (B) 25 Ho
(C) 2.5 Ho (D) 1 Ho

For a normal human eye the least distance of distinct vision is :

(A) 0.25m (B) 25 m
(C) 2.5m (D) 1 m
[ STy ST 9 |

[ Very Short Answer Type Questions ]

2. TF A9 & HAT F0 Bkl § 7 39H SIHES fo@ 0 2

Define power of a lens and give its SI unit.

3. WhIS-fgq Seei & U TREN & T B AU B
2

Explain Einstein's equation for photoelectric emission.

4. NOT &R &1 &1 & ? 39% 99 aren forgh 2

What is NOT gate ? Write its truth table.
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5. P g N-UBPR & Heweh § X T Hi 2

What is the difference between P and N-type semiconductors ?

6. M HIgeH H & & FEar § aviF &) 2

Explain amplitude modulation with the help of diagram.

7. foEq W (Yare) & e med & w7 2

What is Gauss's law for electric flux ?

8. Tty & @Y Fam & aui X 2

Explain Kirchhoff's junction rule.

9. faEq graehiy IXT & & © ? a R 2

What is electromagnetic induction ? Explain.

10. Qe TG M- & @ @ SuEnT 2
Write two uses each of microwaves and Gamma rays.

[ @Y ST 999 ]

[ Short Answer Type Questions ]

11, oRar & G e Jor A 9 B Rgell & 9o g aiRar | 7 3
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12.

13.

14.

15.

(10) 2028/(Set : C)

14N
TE
)

N_L
- -

F

| |
II
2 uF

Define capacitance and calculate equivalent capacitance between
points A and B :

A

LN
TE
)

B

N_L
- T

F

| |
2 uF
Ush FICEH g @, [E i e § aviE HY 3

Explain Wheatstone bridge with the help of a diagram.

U P-N SIS & Fd-q01 Reeshrll & &Y § IuAT qui 3
Explain the use of P-N diode as half-wave rectifier.
TF A GETRRT H T IRE S qdT ST & g o 3

Draw the ray diagram of a simple microscope. Write expression for its
magnification.

STRIST-gacT &1 BT & ¢ AR Fedl Wem @ sweaddie /3 ®, aF giea @ @
| 3
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Define polarization of light. Calculate the angle of polarization for
medium having refractive index V3.

[ ST 99 ]

[ Long Answer Type Questions ]

16. fARfa PRl & T XA gU, 3@ QTG aAG aur Reis @ R
fore 5

Derive equation for radioactive decay using laws of radioactivity and
define decay constant.

AYqT
OR

T fogves ud S S & aUF B ar b SWAN | 5

Explain nuclear fission and nuclear fusion and give their uses

17. T o FISAl Tea-iHe] Hl T T dieediek & & & ao &l 5

How a moving coil galvanometer can be converted into ammeter and

voltmeter ?

OR

(a) STEC-AEE | @ B B ? 3

What is Biot-Savart's law ?
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(b) R W&R & Jehig el & 9T o a1 oo Sere fadl 2

Define different types of magnetic materials and give one example

in each case.

18. (a) TN IROT T BT & ? ST SR & N bl GRS fordhy 3

What is mutual induction ? Define its coefficient.
(b) T FUSAl H AT Iehed 1A &Y, IE Ib UR & Feal § g7 50 A/s
e W 10V REg-aes T (emy) I il ol 2

Calculate the mutual inductance of a coil when 10 V induced emfis
produced in it due to change in current at the rate of 50 A/s in the

neighbouring coil.

HAYqT
OR

T A.C. S+ & RIgiq 9 SEER & 9o &) 5

Explain the principle and working of A. C. Generator.
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. Wﬂ?ﬁﬁﬁﬁ#ﬁ%gﬁf?ﬁﬂ?@ﬂ??ﬁﬁﬂﬂﬁ? TET %
FYUT 59 T § 23 4 qar @hEe 7E B aam

® Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 73T -
(i) F7GT F 37 18 797 &
(ii) T FoT S &
(i) o7 G&M 1 & 1-1 o % aRE (ixii) FRHEAT FT & J9% F7 & a
GHIET T &1 v FGH Tl T g 8 GV 39 G # ST TG
& forgr &

(iv) o7 T 2 & 10 TF Sy FTIT FoT & T T 597 2. ST T &
(v) o7 @@ 11 @15 T% T Ta0q 597 & 797 J9% o7 3 31 77 &
(vi) 797 T 16 G 18 7% HF FTHT 797 & 7o F9% F97 5 R # 81

(i) FETT F T &g & FE w78 & TR 5 o ar g 7 oraid
I eI B T & 08 g § @ o R 7 g7 F @ P90 @ & 797
& 81

(viii) PEGACT % TFIT F ST TE &1 STE &7 T, TTIHT AR F T
5T ST G &1

General Instructions :
(i) There are 18 questions in all.
(i) All questions are compulsory.

(iii) Question number 1 consists of twelve (i-xii) multiple choice questions
each of 1 mark. Each question has four possible answers. You have
to select best answers out of these and write in your answer-sheet.
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(iv) Question Numbers 2 to 10 are very short answer type questions and
carry 2 marks each.

(v) Question Numbers 11 to 15 are short answer type questions and
carry 3 marks each.

(Vi) Question Numbers 16 to 18 are long answer type questions and
carry 5 marks each.

(vii)There is no overall choice. However, an internal choice has been
provided in all three questions of 5 marks each. You have to attempt

only one of the given choice in such questions.

(viii)yUse of Calculators is not permitted, if required you may use
logarithmic tables.

[ Sgfescdid ue |

[ Multiple Choice Type Questions ]

1. () U dogeny G & e FanT el 8 0 1
(A) T 9 g9TICHE
(B) 31f9% 9 &9I1H®

(C) T T FROMcHSD
(D) 3119% T FOMHS

The magnetic susceptibility of diamagnetic substance is :
(A) small and positive

(B) large and positive

(C) small and negative

(D) large and negative

2028/(Set : D) P.T.O.



(4) 2028/(Set : D)
(i) TF Y °e® § I 1 9RT SETed o W@ 5, O 369 r 30 W g &5 8
: 1

) Hot (B) Hon!
ol
(©) g o) Lo

The magnetic field at distance r from a straight long conductor
carrying current I, is :

) Hot (B) Hont
(C) Zero (D) ;—OI
nr

(iii) T 3x107Hz TGN awll a7 I qe=t anf
(A) 0.1 Hlo (B) 1 Hio
() 10° Ho (D) 1072 o

The wavelength of a wave with frequency 3 X 10°Hz will be :

(A) 0.1 m (B) 1 m
(C) 10°m (D) 1072 m

(iv) U eIl Abdl O o T 1
(A) gt
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(B) st

(C) @& &

(D) 9% I1 ¢ Faal 2

The conductivity of a semi-conductor with increase in temperature :
(A) decreases

(B) increases

(C) remains same

(D) may increase or decrease

(v) FRIg o1 &1 SI AEE B @ 1
(A) e (B) A
(C) AR (D) #¥E
SI unit of electric current is :
(A) Volt (B) Coulomb
(C) Ampere (D) Farad

(vi) @ P faggq ool 9l faga i Rgq &9 E & |9k T W 99 3ol 8
1

(A) PE (B) P/E

(C) LA (D) E/P
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The torque acting on an electric dipole of dipole moment P placed

parallel to electric field E will be : 1
(A) PE (B) P/E
(C) Zero (D) E/P
(vi)TF h HIE & TV TR 4 Feael gl 3 g fRan S @& g, 9 get @
Bem R% ? 1
(A) Rh (B) 2Rh
(C) V2R (D) VRh

The distance to which TV tower of height h can broadcast program
is given by (given radius of earth R) ?

(A) Rh (B) 2Rh
(C) V2Rh (D) VRh
(viii) T goT SfidRe Bed e &Y © 1

(A) T HidRe W T
(B) TETT 9

(C) I T

(D) #% Tt

The working of a totally reflecting prism depends upon :
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(A) Total internal reflection
(B) Reflection
(C) Refraction
(D) None

(ix) T MY A A5 & [0 GEae g &1 ofedaq g Bkl & & 1
(A) 18 (B) 2.5 &t

(C) 50 a#i (D) 25 a4

For a normal human eye the least distance of distinct vision is :
(A) 1 cm (B) 2.5 cm
(C) 50 cm (D) 25 cm
(x) 7 & ¥ fpas fow MR fawa oifeeeas @rm P
(A) B (B) g
(OESIS] (D) ST

For which of the following stopping potential required is maximum
?

(A) Green (B) Yellow
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(C) Red (D) Violet

(xi) T 150 e & [IWaiaX & @A F6el e & 3-siel aimeed art : 1
(A) 12.27 A (B) 1A
(C) 1.227 A (D) 1 m

de-Broglie wavelength associated with an electron moving under a

potential difference of 150 volts will be :

(A) 12.27 A (B) 1A
(C) 1.227 A (D) 1 m
(xii) BTZGIST GRHTY] Sl AT ol Bkl © 1
(A) 13.6 eV (B) 1 eV
(C) 13.6 J (D) 10.2 eV

The ionization energy of hydrogen atom is :

(A) 13.6 eV (B) 1 eV
(C) 13.6J (D) 10.2 eV
[ SAferRTg S 99 |

[ Very Short Answer Type Questions ]

2. ORZX & aIdl & ? 3H Jog|e 9ol ford| 2

What is OR gate ? Write its truth table.

3. N-UHR 3 e 1 8ld & ? 32 &g g ot g 7 p)
2028/(Set : D)
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What are N-type semiconductors ? How they are formed ?

4. AW g AR AGAT Bl GRA {7 2

Define amplitude and frequency modulation.

5. dEd w (YATE) % foT TeE & W & aRwwr e
2

Define Gauss's law for electric flux.

6. MH H Frow 7.1 & 7 gaH g o 2
What is Ohm's law ? Write its relation.

7. Y- I B R A B B Ao A 2

Explain lenz's Law for electromagnetic induction.

8. UV-f0l T8 X-fholl & gHg ST g 2

Write two uses of UV-rays and X-rays.

9. TH o & [T Hiohd G0 Td &Far &l uR|n ol 2

Define focal length and power of a lens.

10. SHIRT-JEA S & & e ford 2

Write two laws of photoelectric emission.

[ @Y ST 999 ]
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[ Short Answer Type Questions ]

11. @ I & fQ sfodg & oRww e X 7 v fogell & 7 g ofo)lg &

Gxy 3
20 20
20
_.Y
Xo——
N
40

Define resistance of a conductor and calculate equivalent resistance
between points X and Y :

20 20
20
_.Y

Xe——
WWW
4Q
12. o9 GgiEl & ged aiar & e Sofen g qieesen 9 g ford 3

Write expression for capacitance of three capacitors in series and

parallel combinations.

13. U% R SAE )l HERM & qoiF #F qer V-1 9% s9 1| 3

Explain the working of Zener diode and draw its V-I graph.
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14. THIA WETH &1 Ao B aU B A R wrem & e gfaa #or 60° B,

g% fham B’ ? 3

Explain polarization by reflection of light. Calculate the refractive index

of a medium if angle of polarization is 60°.

15. T% TCd gRasi & fheeT oTRE SIC e STi@e i e for 3

Draw ray diagram of an astronomical telescope and define its

magnification.

[ & ST 9 ]

[ Long Answer Type Questions ]

16. TF I FSoil IeaqMIey & &I & a°F HT 4 AceHie] § &4 J&al Sl & °?

Explain the principle of a moving coil galvanometer. How it can be

converted into a voltmeter ?

AYqT

OR

Uh QRIS $ HRER H =E a9 auie &Y 569 69 a8 B F @ @Rd
fopam ST Hepe & 7 5

Explain the working of a cyclotron with diagram. What type of particles

can be accelerated using it ?
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17. (a) TN T ©@OREA & GRHIMNT B 3

Define mutual and self-inductance.

(b) T %l H 80 A/s & W H g1 Tead W 10 V [&gd a®sh ad (emf)
S BT & A @k S BR 2

Calculate the self-inductance of a coil when 10 V induced emf is

produced in it due to change in current at the rate of 80 A/s.

AYqT
OR

T TREER & fsld od HrEff & aue Hl 5
Explain the principle and working of a transformer.

18. WA e & Fodl & WM & 36D U TG a9 q Terg @l
qRe e 5

Derive equation of radioactivity using laws of radioactive decay. Define
half life period.

HAYqT
OR

(a) S foaues @1 &1 & ? g e 4w 3

What is nuclear fission ? Give one example.
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(b) SHT TTIT H a0 B qAT AR o) 2

Explain nuclear fusion and give one example.
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